N = 0l & AF & F Al A

SN ASF
HE: S0iE MEI|Y SE(SYHLLLM/5Y - 58)
ool SE MEHY X4 (=CRE
SA BB H(BH) - MBAY - B2 Ofl &+ 04 glggfg HRs2
A=z 63,409,600 62,479,600 930,000
= 10,100,000
3 40,293,500
= 13,016,100

SOIE MBI HE(SYHSLL/SY - 55) 28,985,555 29,197,055 A211,500
3 28,977,000
& 8,555

SE MEHY XA 28,985,555 29,197,055 A211,500
3 28,977,000
= 8,555

SEMBEHATY (HOR) 9,666,000 9,916,000 A250,000
3 9,666,000

403 Xt SHAIS XH= 0/ 9,666,000 9,916,000 A250,000
3 9,666,000

01 MK =L S 9,666,000 9,916,000 A250,000
OSHMEXS SEMSEHATY| 9,666,000
3 9,666,000

SEMEBHATY (SAER) 15,960,000 15,937,000 23,000
3 15,960,000

403 RXISH SR 20 15,960,000 15,937,000 23,000
3 15,960,000

01 XISHT2LE 15,960,000 15,937,000 23,000
OYBS L ETY SEMS AT 15,960,000
3 15,960,000

HANS T A (o) 2,169,000 2,677,000 508,000
3 2,169,000

403 X+XIGHAIS XH2 0/ 2,169,000 2,677,000 508,000
3 2,169,000

01 RXISHK2SE 2,169,000 2,677,000 508,000
OSHMEXS HANSEH 2,169,000
3 2,169,000

HRAVSEH(SAESR) 1,182,000 597,000 585,000
3 1,182,000

403 XHXISHAIS XH2 0 1,182,000 597,000 585,000
3 1,182,000

01 MXISHX =S 1,182,000 597,000 585,000
OYBHSANERS MAADISEH 1,182,000
3 1,182,000

SEXY N 8,555 10,055 A1,500

202 01t 8,555 8,555 0

01 =LHA b 8,555 8,555 0
OBFMEEY T4 T 5,133
OALIGE SATHS =& 3,422




SN AEFD
Ha: SO EENS XS (M= /F)
Sl S0IE FeH (e
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il b o B2
SOEFHENS A (MBI =X/ FE) 5,400,000 6,660,000 A1,260,000
SolE Fei 5,400,000 6,660,000 A1,260,000
SoE FeiY 5,400,000 6,660,000 A1,260,000
501 8X2 5,400,000 6,660,000 A1,260,000
02 E2BIIBSN2 5,400,000 6,660,000 1,260,000
OSHEFUNLEXD 5,400,000
ZNSENE L NEWL(IEL TSNS/ NALEAI) 28,997,785 26,596,285 2,401,500
= 10,100,000
3 11,316,500
= 7,581,285
EHMEEH N 7,879,612 13,455,672 5,576,060
3 7,316,500
= 563,112
ZNSLNE (SABR) 2,866,500 3,981,900 A1, 115,400
3 2,866,500
403 RIXISHH SR 201 2,866,500 3,981,900 A1, 115,400
3 2,866,500
01 RXSHAZBE 2,866,500 3,981,900 A1, 115,400
OUBHS A ERIS F=HEL N A 2,866,500
Z 2,866,500
EHEANA (ZER) 4,450,000 8,899,800 4,449,800
3 4,450,000
403 RHXISHHSRH20IH 4,450,000 8,899,800 A4,449,800
3 4,450,000
01 RXISHHRH2 25 4,450,000 8,899,800 A4,449,800
OZANEAZHRY =HBLMS 4,450,000
3 4,450,000
=RELIE! 147,000 50,000 A3,000
403 RHXISHHSX20|H 147,000 150,000 A3,000
01 MXSHMAZDE 147,000 50,000 3,000
CERELTEEE B 147,000
OtSCt22te JRJ| 225,000 362,500 A 137,500
403 XHXIGHH SR 201 225,000 362,500 A137,500
01 XIS K22 225,000 362,500 £137,500
OOISCH22HEH DI RI| ARl 225,000
OIECRAE 22 17,000 20,000 A3,000
307 212+0IH 7,000 20,000 3,000
02 DIIHMNBE 17,000 20,000 3,000
OO0IECIE 2B Z2H 17,000
AL 2RSS 120,000 0 120,000




SN AEFED
HE: EHSEWS L NSHL(FELNSNL/NLL A

CHol: FHMBHANA (Etol e
SN HABIH) - NRAY - BES Ofl & 04 %gi HR=2
403 XX SHSAHZ 0 120,000 0 120,000
01 TXIEHMA=ZE = 120,000 0 120,000
OAlLIoIHE 23T €4 120,000
FHMEEE A 54,112 41,472 12,640
201 YEH2HH| 37,000 24,360 12,640
01 AtR22itl 37,000 24,360 12,640
OAE - Fe9ws 29 10,400
OZSFHUZBAIHEAN XA 6.000
osgznSALIMY VS 2 3,600
OLBT FALFAUES A4 17,000
202 O 17,112 17,112 0
01 WYl 17,112 17,112 0
OCIXteI el AMFZ 10,267
OFHYREH 6.845
ANSHEI|BPAE &S 21,118,173 13,140,613 7,977,560
= 10,100,000
= 4,000,000
= 7,018,173
ATESH(BR) 1,900,000 5,400,000 3,500,000
= 1,500,000
= 400,000
403 XXM SA=01H 1,900,000 5,400,000 A3,500,000
= 1,500,000
S 400,000
01 MXISMA=2E = 1,900,000 5,400,000 23,500,000
OS+dENST AEE5d 1,900,000
& 1,500,000
= 400,000
ATERH(SAER) 3,200,000 3,100,000 100,000
= 2,500,000
= 700,000
403 XXM SA=01H 3,200,000 3,100,000 100,000
= 2,500,000
S 700,000
01 MXEMA2EER 3,200,000 3,100,000 100,000
OdBtsMUENY 2554 3,200,000
= 2,500,000
= 700,000
ZHOZZHAAFHAAS SN (2D) 10,100,000 4,280 10,095,720
= 10,100,000
403 AXIHHSK=01H 10,100,000 0 10,100,000
= 10,100,000
01 MUHXIEMA=ZE = 10,100,000 0 10,100,000




SN

A=z

H: FHESFMWE L NAWL(ZELX
Crol: XISIAS)|BHAlE &5 chel ®el
_ _ PSS I =
SN ZH . CQ(SH) - HIRA - = Ol Ak ol 2

OFBIZBHPAETHIY S 10,100,000
10,100,000

X GHLAS X2 5,918,173 4,636,333 1,281,840

201 Lty 2,040 1,200 840

01 At2 22| 2,040 1,200 840
0OAEE HFMAR 4¢ 1,200
OgN A HMLY 840

202 01| 5,133 5,133 0

01 =LHOi I 5,133 5,133 0
OXSINY BotEA o ) 2,800
OLANZENE +g2d O 2,333

403 XtXISHHSKHE0IA 5,911,000 4,630,000 1,281,000

01 MXSHX=LEE 5,911,000 4,630,000 1,281,000
o= FH2e s 100,000
OARZ FUSVAAY X 1,000,000
oonrsed F| 4,575,000
OTRH N2 = - ZH 110,000
OTQIOIIE S A FH| 126,000

HUHSAPY (ASFD) (IIEH/IIEH 26,260 26,260 0

|2l 26,260 26,260 0

229 J2HYl 26,260 26,260 0

201 Yer2A| 19,540 19,540 0

01 At2 22| 19,540 19,540 0
ORNEY At22el| 19,540

202 01| 6,720 6,720 0

01 2LHOiHI 6,720 6,720 0
A9 2ot 6,720




